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000000 Absolute Maximum Ratings / Ta=250

od od od N-channel P-channel unit
gooddoooogo VDSS 20 0 20 \
goooooooad VGSS + 10 + 10 \%
Oo0ooombeno ID 6 04 A
ooo0oo0mooon IDP PW O 10us, duty cycle O 1% 40 0 40 A
goog PD 0000000 900mm2x 0.8mm) 000 unit 1.3 W
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gooooo Tch 150 O
gooooo Tstg 05500 150 a
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godddooooooo VGs(off) | Vps=10V, ID=1mA 0.5 1.3 \%
goooooooad |yfs| VpDs=10V, ID=3A 10 S
e Enppap RDs(on)1 | ID=3A, VGs=4V 22 30 | mQ
Rps(on)2 | Ip=1.5A, VGS=2.5V 30 44 | mQ

ogooo Ciss VpDs=10V, f=1IMHz 780 pF
gooo Coss VDs=10V, f=1IMHz 300 pF
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min typ max
ooooooo Qg VDs=10V, VGSs=10V, ID=6A 23 nC
gooooooooo Qgs VDS=10V, VGS=10V, ID=6A 1.6 nC
gopodooooodg Qad VDS=10V, VGSs=10V, ID=6A 3.6 nC
oopoooooo VsSD 1S=6A, VGS=0 0.84 12| V
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Jooodooooooo V(BR)DSS | ID=0 1mA, VGS=0 0 20 \%
goooopooodoooaoo IDSS Vps=0 20V, VGs=0 01| uA
goododoooooa 1GSS VGs=+ 8V, VDs=0 + 10| uA
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gopoodooodoo |Yfs| Vps=0 10V, Ip=0 2A 4.9 7 S
0oo0O0oO0O0O0O0000n Rps(on)l | Ip=0 2A,VGgs=0 4.5V 37 54 | mQ
Rps(on)2 | Ip=0 1A,VGs=0 2.5V 58 87 | mQ
gooo Ciss Vps=0O 10V, f=1IMHz 800 pF
oooo Coss Vps=0O 10V, f=1IMHz 210 pF
gooo Crss Vps=0O 10V, f=1IMHz 160 pF
ooooooooao td(on) gooooooa 17 ns
ooooooo tr gooooooda 197 ns
gopoodooodoo td(off) oooooood 88 ns
gooo tf gopoooood 128 ns
ooooooo Qg Vps=0 10V, Vgs=0 10V, Ip=0 4A 21 nC
ooooooooon Qgs Vps=0 10V, Ves=0 10V, Ip=0 4A 14 nC
gopodooooodg Qad Vps=0 10V, Vgs=0 10V, Ip=0 4A 3.2 nC
gopoooooao VsSD Is=0 4A,VGS=0 0 0.82 o12| Vv
ooo gooooo
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